https://communications.science.ankara.edu.tr
Commun.Fac.Sci.Univ.Ank.Ser. A1 Math. Stat
Volume 70, Number 1, Pages 216-228 (2021)
DOI: $10.31801 /$ cfsuasmas. 733684
ISSN 1303-5991 E-ISSN 2618-6470
Received by the editors: June 17, 2020; Accepted: December 18, 2020

# UNIVALENCE CRITERIA OF THE CERTAIN INTEGRAL OPERATORS 

Nizami MUSTAFA and Semra KORKMAZ<br>Department of Mathematics, Faculty of Science and Letters, Kafkas University, Kars, TURKEY


#### Abstract

In this paper, we give some sufficient conditions for the univalence of some integral operators. For this, we use the Becker's and generalized version of the well known Ahlfor's and Becker's univalence criteria.


## 1. Introduction and preliminaries

Let $A$ the class of analytic functions $f$ in the open unit $\operatorname{disk} U=\{z \in \mathbb{C}:|z|<1\}$, normalized by $f(0)=0=f^{\prime}(0)-1$, of the form

$$
\begin{equation*}
f(z)=z+a_{2} z^{2}+a_{3} z^{3}+\ldots+a_{n} z^{n}+\ldots=z+\sum_{n=2}^{\infty} a_{n} z^{n}, a_{n} \in \mathbb{C} \tag{1}
\end{equation*}
$$

It is well-known that an analytic function $f: U \rightarrow \mathbb{C}$ is said to be univalent if the following condition is satisfied: $z_{1}=z_{2}$ if $f\left(z_{1}\right)=f\left(z_{2}\right)$ or $f\left(z_{1}\right) \neq f\left(z_{2}\right)$ if $z_{1} \neq z_{2}$.

We denote by $S$ the subclass of $A$ consisting of functions which are also univalent in $U$.

In recent years there have been many studies (see for example $[2,3,5,7]$ ) on the univalence of the following integral operators

$$
\begin{gather*}
G_{p}(z)=\left\{p \int_{0}^{z} t^{p-1} f^{\prime}(t) d t\right\}^{1 / p},  \tag{2}\\
G_{q_{1}, q_{2}, \ldots, q_{n}, p}(z)=\left\{p \int_{0}^{z} t^{p-1} \prod_{k=1}^{n}\left(\frac{f_{k}(t)}{t}\right)^{q_{k}} d t\right\}^{1 / p}, \tag{3}
\end{gather*}
$$

[^0]and
\[

$$
\begin{equation*}
G_{q}(z)=\left\{q \int_{0}^{z} t^{q-1}\left(e^{f(t)}\right)^{q} d t\right\}^{1 / q} \tag{4}
\end{equation*}
$$

\]

where the functions $f_{k}, k=1,2, \ldots, n$ and $f$ belong to the class $A$ and the parameters $q_{k}, k=1,2, \ldots, n ; p, q$ are complex numbers such that the integrals in (2) (4) exist.

Furthermore, Breaz et. al. 4 have obtained various sufficient conditions for the univalence of the following integral operator

$$
\begin{equation*}
G_{n, \alpha}(z)=\left\{(n \alpha+1) \int_{0}^{z}\left(\prod_{k=1}^{n} f_{k}(t)\right)^{\alpha} d t\right\}^{1 /(n \alpha+1)}, \tag{5}
\end{equation*}
$$

where $n$ is a natural number, $\alpha$ is a real number and functions $f_{k} \in A, k=1,2, \ldots, n$.
By Baricz and Frasin [1] was obtained some sufficient conditions for the univalence of the integral operators of type (3)-(5), when the functions $f_{k}, k=1,2, \ldots, n$ and $f$ are the normalized Bessel functions of the first kind.

It is well known that, the Wright function is defined by the following infinite series:

$$
\begin{equation*}
W_{\lambda, \mu}(z)=\sum_{n=0}^{\infty} \frac{1}{\Gamma(\lambda n+\mu)} \frac{z^{n}}{n!}, \tag{6}
\end{equation*}
$$

where $\Gamma$ is Euler gamma function, $\lambda>-1, \mu \in \mathbb{C}$. This series is absolutely convergent in $\mathbb{C}$, when $\lambda>-1$ and absolutely convergent in open unit disk for $\lambda=-1$. Furthermore, for $\lambda>-1$ the Wright function $W_{\lambda, \mu}$ is an entire function. The Wright function was introduced by Wright in [13] and has appeared for the first time in the case $\lambda>0$ in connection wit his investigation in the asymptotic theory of partitions.

Note that Wright function $W_{\lambda, \mu}$, defined by (6) does not belong to the class $A$. Thus, it is natural to consider the following two kinds of normalization of the Wright function

$$
W_{\lambda, \mu}^{(1)}(z):=\Gamma(\mu) z W_{\lambda, \mu}(z)=\sum_{n=0}^{\infty} \frac{\Gamma(\mu)}{\Gamma(\lambda n+\mu)} \frac{z^{n+1}}{n!}, \lambda>-1, \mu>0, z \in U
$$

and

$$
\begin{aligned}
W_{\lambda, \mu}^{(2)}(z) & : \quad=\Gamma(\lambda+\mu)\left[W_{\lambda, \mu}(z)-\frac{1}{\Gamma(\mu)}\right]=\sum_{n=1}^{\infty} \frac{\Gamma(\lambda+\mu)}{\Gamma(\lambda n+\lambda+\mu)} \frac{z^{n}}{n!}, \\
\lambda & >-1, \lambda+\mu>0, z \in U
\end{aligned}
$$

Clearly can be written

$$
\begin{gather*}
W_{\lambda, \mu}^{(1)}(z)=z+\sum_{n=2}^{\infty} \frac{\Gamma(\mu)}{\Gamma(\lambda(n-1)+\mu)} \frac{z^{n}}{(n-1)!}, z \in U, \lambda>-1, \mu>0  \tag{7}\\
W_{\lambda, \mu}^{(2)}(z)=z+\sum_{n=2}^{\infty} \frac{\Gamma(\lambda+\mu)}{\Gamma(\lambda(n-1)+\lambda+\mu)} \frac{z^{n}}{n!}, z \in U, \lambda>-1, \lambda+\mu>0 \tag{8}
\end{gather*}
$$

Note that

$$
W_{1, p+1}^{(1)}(-z)=-J_{p}^{(1)}(z)=\Gamma(p+1) z^{1-p / 2} J_{p}(2 \sqrt{z})
$$

where $J_{p}$ is Bessel function and $J_{p}^{1}$ is normalized Bessel function. It is well known that Bessel function first kind $J_{\mu}$ is defined as the particular solution of the secondorder linear homogeneous differential equation (see, for example 11])

$$
z^{2} w^{\prime \prime}(z)+z w^{\prime}(z)+\left(z^{2}-\mu^{2}\right) w(z)=0
$$

This is why, this equation is called Bessel differential equation.
Furthermore, we observe that $W_{\lambda, \mu}^{(1)}$ and $W_{\lambda, \mu}^{(2)}$ are satisfying the following relations:

$$
\begin{align*}
\lambda z\left(W_{\lambda, \mu}^{(1)}(z)\right)^{\prime}= & (\mu-1) W_{\lambda, \mu-1}^{(1)}(z)+(\lambda-\mu+1) W_{\lambda, \mu}^{(1)}(z)  \tag{9}\\
\lambda z\left(W_{\lambda, \mu}^{(2)}(z)\right)^{\prime}= & (\lambda-\mu+1) W_{\lambda, \mu-1}^{(2)}(z)-(\mu-1) W_{\lambda, \mu-1}^{(2)}(z)  \tag{10}\\
& z\left(W_{\lambda, \mu}^{(2)}(z)\right)^{\prime}=W_{\lambda, \lambda+\mu}^{(1)}(z) \tag{11}
\end{align*}
$$

It can be easily shown that the functions $W_{1, \mu}^{(1)}$ and $W_{1, \mu}^{(2)}$ are satisfying the following differential equations, respectively,

$$
4 z^{2} w^{\prime \prime}(z)+4(\mu-2) z w^{\prime}(z)+\left(5-3 \mu+z^{2}\right) w(z)=0
$$

and

$$
4 z^{2} w^{\prime \prime \prime}(z)+4(\mu+1) w^{\prime \prime}(z)+\left(\mu+2+z^{2}\right) w^{\prime}(z)=0
$$

To prove our main results, we shall require the following well known lemmas.
Lemma 1. [9] Let $p$ and $c$ be complex numbers such that $\operatorname{Re}(p)>0$ and $|c| \leq$ $1, c \neq-1$. If the function $f \in A$ satisfies the inequality

$$
\left.\left.|c| z\right|^{2 p}+\left(1-|z|^{2 p}\right) \frac{z f^{\prime \prime}(z)}{p f^{\prime}(z)} \right\rvert\, \leq 1 \text { for all } z \in U
$$

then the function $G_{p}: U \rightarrow \mathbb{C}$ defined by (2) is univalent in $U$.
Lemma 2. [10]. Let $q \in \mathbb{C}$ and $a \in \mathbb{R}$ such that $\operatorname{Re}(q) \geq 1, a>1$ and $2 a|q| \leq$ $3 \sqrt{3}$. If $f \in A$ satisfies the inequality $\left|z f^{\prime}(z)\right| \leq a$ for all $z \in U$, then the function $G_{p}: U \rightarrow \mathbb{C}$ defined by (4) univalent in $U$.

Lemma 3. 88. Let $q \in \mathbb{C}$ such that $\operatorname{Re}(q)>0$. If the function $f \in A$ satisfies the inequality

$$
\frac{1-|z|^{2 \operatorname{Re}(q)}}{\operatorname{Re}(q)}\left|\frac{z f^{\prime \prime}(z)}{f^{\prime}(z)}\right| \leq 1
$$

for all $z \in U$, then for all $p \in \mathbb{C}$ such that $\operatorname{Re}(p) \geq \operatorname{Re}(q)$, the function defined by (2) is univalent in $U$.

Furthermore, we shall need the following results.
Lemma 4. [6]. Let $\lambda \geq 1$ and $\mu>x_{0}$, where $x_{0} \cong 1.2581$ is the numerical root of the equation

$$
\begin{equation*}
2 x-(x+1) e^{1 /(x+1)}+1=0 \tag{12}
\end{equation*}
$$

Then, the following inequalities hold true for all $z \in U$.

$$
\begin{gather*}
\left|\frac{z\left(W_{\lambda, \mu}^{(1)}(z)\right)^{\prime}}{W_{\lambda, \mu}^{(1)}(z)}-1\right| \leq \frac{e^{1 /(\mu+1)}}{(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}}  \tag{13}\\
\left|z\left(W_{\lambda, \mu}^{(1)}(z)\right)^{\prime}\right| \leq 1+\frac{1}{\mu}\left\{(\mu+2) e^{1 /(\mu+1)}-(\mu+1)\right\} \tag{14}
\end{gather*}
$$

Lemma 5. [6] Let $\lambda \geq 1$ and $\lambda+\mu>x_{0}$ where $x_{0} \cong 1.2581$ is the numerical root of the equation (12). Then, the following inequalities hold true for all $z \in U$.

$$
\begin{gathered}
\left|\frac{z\left(W_{\lambda, \mu}^{(2)}(z)\right)^{\prime}}{W_{\lambda, \mu}^{(2)}(z)}-1\right| \leq \frac{(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)}{(\lambda+\mu)-(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)} \\
\left|z\left(W_{\lambda, \mu}^{(2)}(z)\right)^{\prime}\right| \leq 1+\frac{\lambda+\mu+1}{\lambda+\mu}\left(e^{1 /(\mu+1)}-1\right)
\end{gathered}
$$

In this paper, we give various sufficient conditions for the univalence on the open unit disk of the integral operators of type $(2)-(5)$, when the functions $f_{k}$, $k=1,2, \ldots, n$ and $f$ are the normalized Wright functions. Also in this study, we would like to show that the univalence of integral operators, which involve normalized Wright functions can be derived easily via some well-known univalence criteria.

## 2. Univalence of the integral operators involving normalized WRIGHT FUNCTIONS

In this section of the paper, our main aim are give sufficient conditions for the integral operators of type (3) - (5), when the functions $f_{k}, k=1,2, \ldots, n$ are normalized Wright functions with various parameters to be univalent in the open unit disk.

Let

$$
\begin{align*}
& G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}(z)=\left\{p \int_{0}^{z} t^{p-1} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(t)}{t}\right)^{q_{k}} d t\right\}^{1 / p}, z \in U  \tag{15}\\
& \lambda>-1, \mu_{k}>0, k=1,2, \ldots, n
\end{align*}
$$

where the functions $W_{\lambda, \mu_{k}}^{(1)}$ are normalized Wright functions defined by 77 .
On the univalence of the function $G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}$, we give the following theorem.
Theorem 6. Let $\lambda \geq 1$, $n$ be a natural number and $q_{1}, q_{2}, \ldots, q_{n}$ are nonzero complex numbers, $\mu>x_{0}$, where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}, x_{0} \cong 1.2581$ is numerical root of the equation 12) and $p, c$ are complex numbers with $\operatorname{Re}(p)>0$,

$$
|c| \leq 1-\frac{e^{1 /(\mu+1)}}{|p|\left[(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}\right]} \sum_{k=1}^{n}\left|q_{k}\right|
$$

Then, the function $G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}: U \rightarrow \mathbb{C}$ defined by 15 is univalent in $U$.
Proof. Firstly, we define the function $G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}: U \rightarrow \mathbb{C}$ by

$$
\begin{equation*}
G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)=\int_{0}^{z} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(t)}{t}\right)^{q_{k}} d t \tag{16}
\end{equation*}
$$

We observe that, since for all $k=1,2, \ldots, n$ we have $W_{\lambda, \mu_{k}}^{(1)} \in A$, clearly $G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}} \in A$. Also, from $\sqrt{16}$ it is easy to see that

$$
\begin{equation*}
\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime}=\prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(z)}{z}\right)^{q_{k}} \tag{17}
\end{equation*}
$$

In this case, the integral operator (15), can be written as follows

$$
\begin{align*}
& G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}(z)=\left\{p \int_{0}^{z} t^{p-1}\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(t)\right)^{\prime} d t\right\}^{1 / p}, z \in U  \tag{18}\\
& \lambda>-1, \mu_{k}>0, k=1,2, \ldots, n
\end{align*}
$$

From the equation (17), by simple computation, we have

$$
\frac{\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, q_{n}}(z)\right)^{\prime \prime}}{\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, q_{n}}(z)\right)^{\prime}}=\sum_{k=1}^{n} q_{k} \frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}-W_{\lambda, \mu_{k}}^{(1)}(z)}{z W_{\lambda, \mu_{k}}^{(1)}(z)}
$$

and

$$
\begin{equation*}
\frac{z\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime \prime}}{\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime}}=\sum_{k=1}^{n} q_{k}\left(\frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}}{W_{\lambda, \mu_{k}}^{(1)}(z)}-1\right) \tag{19}
\end{equation*}
$$

Using triangly inequality to the (19), then applying the inequality (13) for each $\mu_{k}: k=1,2, \ldots, n$, we obtain

$$
\begin{aligned}
\left|\frac{z\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime \prime}}{\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime}}\right| & \leq \sum_{k=1}^{n}\left|q_{k}\right|\left|\frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}}{W_{\lambda, \mu_{k}}^{(1)}(z)}-1\right| \\
\leq & \sum_{k=1}^{n}\left|q_{k}\right| \frac{e^{1 /\left(\mu_{k}+1\right)}}{\left(2 \mu_{k}+1\right)-\left(\mu_{k}+1\right) e^{1 /\left(\mu_{k}+1\right)}} .
\end{aligned}
$$

Now, we define the function $g:(1.2581,+\infty) \rightarrow \mathbb{R}$ as follows:

$$
\begin{equation*}
g(x)=\frac{e^{1 /(x+1)}}{(2 x+1)-(x+1) e^{1 /(x+1)}} \tag{20}
\end{equation*}
$$

It can be easily see that the function $g:(1.2581,+\infty) \rightarrow \mathbb{R}$, defined by 20 is decreasing. Consequently for all $\mu_{k}, k=1,2, \ldots, n$, we have

$$
\begin{equation*}
\frac{e^{1 /\left(\mu_{k}+1\right)}}{\left(2 \mu_{k}+1\right)-\left(\mu_{k}+1\right) e^{1 /\left(\mu_{k}+1\right)}} \leq \frac{e^{1 /(\mu+1)}}{(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}} \tag{21}
\end{equation*}
$$

where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}$.
By using triangle inequality, we obtain the following inequality

$$
\begin{aligned}
& \left.\left.\quad|c| z\right|^{2 p}+\left(1-|z|^{2 p}\right) \frac{z\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime \prime}}{p\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime}} \right\rvert\, \\
& \leq|c|+\frac{e^{1 /(\mu+1)}}{(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}} \sum_{k=1}^{n}\left|\frac{q_{k}}{p}\right| .
\end{aligned}
$$

The right hand side expression in the above inequality is bounded by 1 if and only if the hypothesis of the theorem is satisfied. Hence,

$$
\left.\left.|c| z\right|^{2 p}+\left(1-|z|^{2 p}\right) \frac{z\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime \prime}}{p\left(G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{q_{1}, q_{2}, \ldots, q_{n}}(z)\right)^{\prime}} \right\rvert\, \leq 1
$$

under hypothesis of theorem. Thus, according to Lemma 1, the function defined by (18); so, the integral operator (15) is univalent in $U$.

With this the proof of Theorem 6 is completed.

By setting $q_{1}=q_{2}=\ldots=q_{n}=q$ in Theorem 6, we obtain the following corollary.
Corollary 7. Let $\lambda \geq 1 n$ be a natural number and $q$ be a nonzero complex number and $\mu>x_{0}$, where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}, x_{0} \cong 1.2581$ is the numerical root of the equation (12), $p$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{|q| n e^{1 /(\mu+1)}}{|p|\left[(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}\right]}
$$

Then, the integral operator $G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q}: U \rightarrow \mathbb{C}$ defined by

$$
G_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q}(z)=\left\{p \int_{0}^{z} t^{p-1} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(t)}{t}\right)^{q} d t\right\}^{1 / p}
$$

is univalent in $U$.
By taking $n=1$ in Theorem 6, we immediately obtain the following result.
Corollary 8. Let $\lambda \geq 1$ and $\mu>x_{0}$ where $x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p, q$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{|q| e^{1 /(\mu+1)}}{|p|\left[(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}\right]}
$$

Then, the integral operator $G_{\lambda, \mu}^{p, q}: U \rightarrow \mathbb{C}$ defined by

$$
G_{\lambda, \mu}^{p, q}(z)=\left\{p \int_{0}^{z} t^{p-1}\left(\frac{W_{\lambda, \mu}^{(1)}(t)}{t}\right)^{q} d t\right\}^{1 / p}
$$

is univalent in $U$.
By taking $q=1$ in Corollary 8, we have the following corollary.
Corollary 9. Let $\lambda \geq 1$ and $\mu>x_{0}$, where $x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{e^{1 /(\mu+1)}}{|p|\left[(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}\right]}
$$

Then, the integral operator $G_{\lambda, \mu}^{p}: U \rightarrow \mathbb{C}$ defined by

$$
\begin{equation*}
G_{\lambda, \mu}^{p}(z)=\left\{p \int_{0}^{z} t^{p-2} W_{\lambda, \mu}^{(1)}(t) d t\right\}^{1 / p} \tag{22}
\end{equation*}
$$

is univalent in $U$.

Remark 10. Note that, recently the function $G_{\lambda, \mu}^{p}: U \rightarrow \mathbb{C}$ defined by (22) was investigated by Prajapat [12] and obtained some sufficient conditions for the univalence of this function.

On the univalence of the integral operator

$$
\begin{gathered}
F_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}(z)=\left\{p \int_{0}^{z} t^{p-1} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(2)}(t)}{t}\right)^{q_{k}} d t\right\}^{1 / p}, \\
\lambda>-1, \lambda+\mu_{k}>0, k=1,2, \ldots, n, z \in U
\end{gathered}
$$

where the functions $W_{\lambda, \mu_{k}}^{(2)}(z)$ are normalized Wright functions defined by 8 .
Theorem 11. Let $\lambda \geq 1$, $n$ be a natural number and $q_{1}, q_{2}, \ldots, q_{n}$ are nonzero complex numbers, $\lambda+\mu>x_{0}$, where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}, x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)}{|p|\left[(\lambda+\mu)-(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)\right]} \sum_{k=1}^{n}\left|q_{k}\right| .
$$

Then, the integral operator $F_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q_{1}, q_{2}, \ldots, q_{n}}: U \rightarrow \mathbb{C}$ defined by 23 is univalent in $U$.

Proof. The proof of Theorem 11 is similar to the proof of Theorem 6. Hence, the details of the proof of this theorem may be omitted.

By setting $q_{1}=q_{2}=\ldots=q_{n}=q$ in Theorem 11, we arrive at the following corollary.

Corollary 12. Let $\lambda \geq 1$, $n$ be a natural number and $q$ be a nonzero complex number, $\lambda+\mu>x_{0}$, where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}, x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{|q| n(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)}{|p|\left[(\lambda+\mu)-(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)\right]}
$$

Then, the integral operator $F_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q}: U \rightarrow \mathbb{C}$ defined by

$$
F_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{p, q}(z)=\left\{p \int_{0}^{z} t^{p-1} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(2)}(t)}{t}\right)^{q} d t\right\}^{1 / p}
$$

is univalent in $U$.
Taking $n=1$ in Theorem 11, we immediately obtain the following result.

Corollary 13. Let $\lambda \geq 1$ and $\lambda+\mu>x_{0}$, where $x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p, q$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{|q|(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)}{|p|\left[(\lambda+\mu)-(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)\right]}
$$

Then, the integral operator $F_{\lambda, \mu}^{p, q}: U \rightarrow \mathbb{C}$ defined by

$$
F_{\lambda, \mu}^{p, q}(z)=\left\{p \int_{0}^{z} t^{p-1}\left(\frac{W_{\lambda, \mu}^{(2)}(t)}{t}\right)^{q} d t\right\}^{1 / p}
$$

is univalent in $U$.
By taking $q=1$, from the Corollary 13 we have the following corollary.
Corollary 14. Let $\lambda \geq 1$ and $\lambda+\mu>x_{0}$, where $x_{0} \cong 1.2581$ is numerical root of the equation (12). Moreover, suppose that $p$ and $c$ are complex numbers such that $\operatorname{Re}(p)>0,|c|<1$ and the following condition is satisfied:

$$
|c| \leq 1-\frac{(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)}{|p|\left[(\lambda+\mu)-(\lambda+\mu+1)\left(e^{1 /(\mu+1)}-1\right)\right]}
$$

Then, the integral operator $F_{\lambda, \mu}^{p}: U \rightarrow \mathbb{C}$ defined by

$$
F_{\lambda, \mu}^{p}(z)=\left\{p \int_{0}^{z} t^{p-2} W_{\lambda, \mu}^{(2)}(t) d t\right\}^{1 / p}
$$

is univalent in $U$.
Now let

$$
\begin{gather*}
H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{n, \alpha}(z)=\left\{(n \alpha+1) \int_{0}^{z} \prod_{k=1}^{n}\left(W_{\lambda, \mu_{k}}^{(1)}(t)\right)^{\alpha} d t\right\}^{1 /(n \alpha+1)}  \tag{24}\\
\lambda>-1, \mu_{k}>0, k=1,2, \ldots, n, z \in U
\end{gather*}
$$

where the functions $W_{\lambda, \mu_{k}}^{(1)}$ are normalized Wright functions defined by 77 .
The following theorem contains sufficient condition for the integral operator (24) to be univalent in the open unit disk $U$.

Theorem 15. Let $\lambda \geq 1$, $n$ be a natural number, $\mu>x_{0}$, where $\mu=\min \left\{\mu_{k}: k=1,2, \ldots, n\right\}$ and $x_{0}$ is numerical root of the equation (12). Moreover, suppose that $\alpha$ be a complex numbers such that $\operatorname{Re}(p)>0$ and the following condition is satisfied:

$$
|\alpha| \leq \frac{(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}}{n e^{1 /(\mu+1)}} \operatorname{Re}(\alpha)
$$

Then, the integral operator $H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{n, \alpha}: U \rightarrow \mathbb{C}$ defined by (24) is univalent in $U$.

Proof. Let us define the function $H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}: U \rightarrow \mathbb{C}$ by

$$
\begin{equation*}
H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)=\int_{0}^{z} \prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(t)}{t}\right)^{\alpha} d t \tag{25}
\end{equation*}
$$

We can easily see that $H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha} \in A$. Also, from 25 it is easy to see that

$$
\begin{equation*}
\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime}=\prod_{k=1}^{n}\left(\frac{W_{\lambda, \mu_{k}}^{(1)}(z)}{z}\right)^{\alpha} \tag{26}
\end{equation*}
$$

By simple computation, it follows from (26) that

$$
\frac{z\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime \prime}}{\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime}}=\sum_{k=1}^{n} \alpha\left(\frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}-z W_{\lambda, \mu_{k}}^{(1)}(z)}{z W_{\lambda, \mu_{k}}^{(1)}(z)}\right)
$$

That is,

$$
\frac{z\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime \prime}}{\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime}}=\sum_{k=1}^{n} \alpha\left(\frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}}{W_{\lambda, \mu_{k}}^{(1)}(z)}-1\right)
$$

Using in the last equality firstly triangle inequality and then applying the inequality $\sqrt[13]{ }$ gives the following inequality

$$
\begin{aligned}
\left|\frac{z\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime \prime}}{\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime}}\right| & \leq \sum_{k=1}^{n}|\alpha|\left(\frac{z\left(W_{\lambda, \mu_{k}}^{(1)}(z)\right)^{\prime}}{W_{\lambda, \mu_{k}}^{(1)}(z)}-1\right) \\
\leq & \sum_{k=1}^{n}|\alpha| \frac{e^{1 /\left(\mu_{k}+1\right)}}{\left(2 \mu_{k}+1\right)-\left(\mu_{k}+1\right) e^{1 /\left(\mu_{k}+1\right)}}
\end{aligned}
$$

On the other hand, by using 21, we obtain that

$$
\frac{1-|z|^{2 \operatorname{Re}(\alpha)}}{\operatorname{Re}(\alpha)}\left|\frac{z\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime \prime}}{\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime}}\right| \leq \frac{|\alpha| n}{\operatorname{Re}(\alpha)} \frac{e^{1 /(\mu+1)}}{(2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}}
$$

for all $z \in U$.
Under hypothesis of theorem right hand side expression of the above inequality is bounded by 1. Since the function $H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{n, \alpha}$ can be rewritten in the form

$$
H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{n, \alpha}(z)=\left\{(n \alpha+1) \int_{0}^{z} t^{n a}\left(H_{\lambda, \mu_{1}, \mu_{2}, \ldots, \mu_{n}}^{\alpha}(z)\right)^{\prime} d t\right\}^{1 /(n a+1)}
$$

and $\operatorname{Re}(n \alpha+1)>\operatorname{Re}(\alpha)$, applying Lemma 3, we obtain the required result.
Thus, the proof of Theorem 15 is completed.
By setting $n=1$ in Theorem 15, we arrive at the following corollary.
Corollary 16. Let $\lambda \geq 1$ and $\mu>x_{0}$, where $x_{0}$ is numerical root of the equation (12). Moreover, suppose that $\alpha$ be a complex number with $\operatorname{Re}(\alpha)>0$ and the following condition is satisfied: $e^{1 /(\mu+1)}|\alpha| \leq\left((2 \mu+1)-(\mu+1) e^{1 /(\mu+1)}\right) \operatorname{Re}(\alpha)$. Then, the integral operator $H_{\lambda, \mu}^{\alpha}: U \rightarrow \mathbb{C}$ defined by

$$
H_{\lambda, \mu}^{\alpha}(z)=\left\{(\alpha+1) \int_{0}^{z}\left(W_{\lambda, \mu}^{(1)}(t)\right)^{\alpha} d t\right\}^{1 /(\alpha+1)}
$$

is univalent in $U$.
By taking $\alpha=1$ in Corollary 16, we have the following result.
Corollary 17. Let $\lambda \geq 1$ and $\mu>x_{0}$, where $x_{0}$ is numerical root of the equation (12). Then, the integral operator $H_{\lambda, \mu}: U \rightarrow \mathbb{C}$ defined by

$$
H_{\lambda, \mu}(z)=\sqrt{2}\left\{\int_{0}^{z} W_{\lambda, \mu}^{(1)}(t) d t\right\}^{1 / 2}
$$

is univalent in $U$.
Notation 18. For the integral operator (24), when the function $W_{\lambda, \mu_{k}}^{(1)}$ is normalized Wright function $W_{\lambda, \mu_{k}}^{(2)}$ defined by \& can be proved similar result.

Finally, we give the following theorem, which contain another sufficient conditions for the integral operator

$$
\begin{equation*}
\mathbb{Q}_{\lambda, \mu}^{q}(z)=\left\{q \int_{0}^{z} t^{q-1}\left(e^{W_{\lambda, \mu}^{(1)}(t)}\right)^{q} d t\right\}^{1 / q}, \lambda>-1, \lambda+\mu>0, z \in U \tag{27}
\end{equation*}
$$

to be univalent in the open unit disk $U$.
Theorem 19. Let $q \in \mathbb{C}, \lambda \geq 1$ and $\mu>x_{0}$, where $x_{0} \cong 1.2581$ is numerical root of the equation (12). If $\operatorname{Re}(q)>0$ and the following condition is satisfied

$$
\begin{equation*}
|q| \leq \frac{3 \sqrt{3} \mu}{2\left[(\mu+2) e^{1 /(\mu+1)}-1\right]} \tag{28}
\end{equation*}
$$

then the function $\mathbb{Q}_{\lambda, \mu}^{q}: U \rightarrow \mathbb{C}$ defined by 27 ) is univalent in $U$.
Proof. It follows from (14) that

$$
\left|z\left(W_{\lambda, \mu}^{(1)}(z)\right)^{\prime}\right| \leq 1+\frac{1}{\mu}\left\{(\mu+2) e^{1 /(\mu+1)}-(\mu+1)\right\}
$$

for all $z \in U$.
Taking

$$
\alpha=1+\frac{1}{\mu}\left\{(\mu+2) e^{1 /(\mu+1)}-(\mu+1)\right\}
$$

we easily see that $2 \alpha|q| \leq 3 \sqrt{3}$ if provided 28 . Thus, under hypothesis of theorem, all hypothesis of the Lemma 2 is provided.

Hence, the proof of Theorem 19 is completed.
B setting $q=1$ in Theorem 19, we have the following result.
Corollary 20. Let $\lambda \geq 1$ and $\mu>x_{1}$, where $x_{1} \cong 1.6692$ is the numerical root of the equation

$$
\begin{equation*}
3 \sqrt{3} x-2(x+2) e^{1 /(x+1)}+2=0 \tag{29}
\end{equation*}
$$

Then, the function $\mathbb{Q}_{\lambda, \mu}: U \rightarrow \mathbb{C}$ defined by

$$
\mathbb{Q}_{\lambda, \mu}(z)=\int_{0}^{z} e^{W_{\lambda, \mu}^{(1)}(t)} d t
$$

is univalent in $U$.
Now, let

$$
\begin{equation*}
D_{\lambda, \mu}^{q}(z)=\left\{q \int_{0}^{z} t^{q-1}\left(e^{W_{\lambda, \mu}^{(2)}(t)}\right)^{q} d t\right\}^{1 / q}, \lambda>-1, \lambda+\mu>0, z \in U \tag{30}
\end{equation*}
$$

For the function (30), we give the following theorem which will be proved similarly to Theorem 19 .

Theorem 21. Let $q \in \mathbb{C}, \lambda \geq 1$ and $\lambda+\mu>x_{0}$, where $x_{0} \cong 1.2581$ is the root of the equation (12). If $\operatorname{Re}(q)>1$ and the following condition is satisfied

$$
|q| \leq \frac{3 \sqrt{3}(\lambda+\mu)}{2\left[(\lambda+\mu+1) e^{1 /(\lambda+\mu+1)}-1\right]}
$$

then the function $D_{\lambda, \mu}^{q}: U \rightarrow \mathbb{C}$ defined by (30) is univalent in $U$.
By setting $q=1$ in Theorem 21, we obtain the following corollary.

Corollary 22. Let $\lambda \geq 1$ and $\lambda+\mu>x_{2}$, where $x_{2} \cong 0.83232$ is numerical root of the equation

$$
3 \sqrt{3} x-2(x+1) e^{1 /(x+1)}+2=0
$$

Then the function $D_{\lambda, \mu}^{q}: U \rightarrow \mathbb{C}$ defined by

$$
D_{\lambda, \mu}(z)=\int_{0}^{z} e^{W_{\lambda, \mu}^{(2)}(t)} d t
$$

is univalent in $U$.
Authors Contributions Statements All authors equally worked on the results, read and approved the final manuscript.

Declaration of Competing Interests The authors declare that there is no competing interest.

## References

[1] Baricz, A., Frasin, A. B., Univalence of integral operators involving Bessel functions, Appl. Math. Lett., 23 (2010), 371-376.
[2] Becker, J., Löwnersche differentialgleichung und quasikoform fortsetzbare schlichte funktionen, J. Reine Angw. Math., 255 (1972), 23-43 (in German).
[3] Blezu, D., On univalence criteria, General Mathematics 14 (1) (2006), 87-93.
[4] Breaz, D., Breaz, N., Srivastava, H. M., An extension of the univalent condition for a family of integral oprator, Appl. Math. Lett., 22 (1) (2009), 41-44.
[5] Breaz, D., Günay, H. Ö., On the univalence criterion of a general integral operator, J. Inequal. Appl., (2008), Article ID 702715, 8 pages doi:10.1155/2008/702715.
[6] Mustafa, N., Univalence of certain integral operators involving normalized Wright functions, Commun. Fac. Sci. Univ. Ank. Ser. A 1 Math. Stat., 66 (1) (2017) 19-28.
[7] Mustafa, N., Yarcan, M., Univalence of certain integral operators involving produced Wright functions, Journal of Scientific and Engineering Research, 5 (5) (2018), 569-577.
[8] Pascu, N., An improvement of Becker's univalence criterion, Proceedings of the Commemorative Session Simion Stoilow, Brasov, (1987), 43-98.
[9] Pescar, V., A new generalization of Ahlfor's and Becker's criterion of univalence, Bull. Math. Malaysian Soc. (Second Series), 19 (1996), 53-54.
[10] Pescar, V., Univalence of certain integral operators, Acta Univ. Apulensis Math. Inform., 12 (2006), 43-48.
[11] Prajapat, J. K., Certain geometric properties of normalized Bessel functions, Appl. Math. Lett., 24 (2011), 2133-2139.
[12] Prajapat, J. K., Certain geometric properties of the Wright function, Integral Transform and Special Functions, 26 (3) (2015), 203-212, http://x.doi.org/10.1080/10652469.2014.9833502.
[13] Wright, E. M., On the coefficients of power series having exponential singularities, J. London Math. Soc., 8 (1933), 71-79.


[^0]:    2020 Mathematics Subject Classification. Primary 30A10, 30C45; Secondary 33E20, 33C05.
    Keywords and phrases. Univalent function, Wright function, Becker's univalence criteria.
    nizamimustafa@gmail.com-Corresponding author; korkmazsemra36@outlook.com
    (D) 0000-0002-2758-0274; 0000-0002-7846-9779

